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Questions

Transpose of row matrix is called

Question Image

Question Image

Question Image

Transpose of A is denoted by:

Question Image

A matrix is called

Question Image

matrix:

matrix, if its number of rows is equal to its number of columns:

A matrix is called column matrix if it has only one:

The matrixM =[2 -1 7] is called:

A matrix is called a row matrix if it has only one

Question Image

Question Image

Answers Choice
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Let A and B be two matrices. Then A is said to be equal to B, and denoted by A = B if and
only if:
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D. P &gt; Q

B. Corresponding entries are equal
C. Eitheraorb

D.Botaandb

A. 3-by-2

C. 1-by-3
D. 3-by-1



